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Pierce — What is the latitude and longitude for the dock on Harts Lake?
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To calculate longitude (east-west):
1.

122°30° - 27°30” =

The distance between the longitude markers circled in red and black are 2 minutes and 30 seconds:
2°30” and 27°30” - 25’ =2’30".
7/

Pierce

Nl

hear

| 1
,‘ﬂs'ﬁ i
G



To calculate longitude:
1. The distance between the longitude markers circled in red and black are 2 minutes and 30 seconds:
122°30° - 27°30” = 2°30” and 27°30” - 25’ =2"30".
TN . . . . . .
- 2. Divide the 2°30” in half and this marker is 1°15” (one minute and 15 seconds)
3. Add 1’157 to 122°25° = 122°16°15”
N . . .
A Answer: Approximately 122°16°15” longitude (122 degrees, 16 minutes and 15 seconds)
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To calculate latitude (south-north):
1. The distance between the latitude markers circled in red and black are 2 minutes and 30 seconds:
46°55 - 46°52°30” = 230"
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To calculate latitude (south-north):

1. The distance between the latitude markers circled in red and black are 2 minutes and 30 seconds:
46°55" - 46°52°30” =2°30”

2. Divide 2°30” in half and this marker is 1’15 (one minute and 15 seconds)

3. Add 1°15” to 46°52°30” = 46°53°45”

Answer: Approximately 46°53°45” longitude (46 degrees, 53 minutes and 45 seconds)
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